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75% of 120 =
75% of 240 =
75% of 2000 =
14+13 =

5.4 + 456 =
6.4+182 =
11/7 -2/7=
11/3-2/3=
11/4-2/4-=

Y5 Quick starts

Fractions Decimals | Percentages
1/10
0.2
1/4
30%
2/5
12 0.5 50%
60%
0.7
75%
8/10
0.9
1/1

' Circle all the numbers that round to 4,750 to the nearest 10

4,752 748 4748 4,745 4,755
) What is the missing number?
305,700
300,000 ? 700

) Which is the greater number? Explain your answer.
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75% of 180 =
75% of 440 =
75% of 4000 =
14+15=

5.4+ 496 =
6.4+192 =
11/9-2/9=
11/11 - 2/11=
11/14 - 2/14 =

Y5 Quick starts

Fractions Decimals | Percentages
1/10
0.2
1/4
30%
2/5
12 0.5 50%
60%
0.7
75%
8/10
0.9
1/1

Culnp|u‘hs the missing numbers.

& 10,019 30,019

Put the following weights is order starting with the smallest.

700,000 kg 87,000 kg
Ninety-four thousand kg @ 399,458 kg

smallest

The thermometer shows the temperature in London in May.

220018 16 M 1210864 2

In January the temperature was 20 degrees colder.
What was the temperature in London in January?

°C
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75% of 180 =
75% of 440 =
75% of 4000 =
14+15=

5.4+ 496 =
6.4+192 =
11/9-2/9=
13/11-2/11=
11/13-2/13 =

Y5 Quick starts

Percentages o Whut numbers are shown b\’ the arrows?

Fractions Decimals
1/10
0.2 |
I soboo
30%
2/5
12 0.5 50%
60% |
07 500,000
75%
8/10 -~
0.9
1/1




